(1) HEERI

BAECURAER | WERE R =
=2 37 139 176
I R R 7 4 11
WE (K 7 26 33
s 3 0 3
Z DO, 5 12 17

(2) BERIBERE

BEEURRER | G 3
e - - 0
bR PE - - 0
s R - - 0

g | PRS- A WS - - 0

g AL - S - - 0
C | zomosiis - - 0

i Toa ohiem) : 8 8

% HE (N - 8 8

%;ﬁ e (Zofh) - 17 17

§ BEh . ST - - 0

(R s - - 0
7 DO (R E RS - - 0
EH - BEL- F YA - - 0
Z o - 117 117

RO - - 0

TR 25 - 25

Wi e 4 1 5

b AR 7 1

(R 1 - 1

KR TR - 1 1

&Et 37 153 190




EEEHMA) L TEER | £FER | Tt P——
(B)HC)+D) | FELEHK (B) (C) (D) "
RAEEDAZ 59 38 37 10 12|  97.3%
% '
REHBE
181 140 139 26 16| 99.2%
5
&t 240 178 176 36 28 98.8%




